20174 50 4A 2017478228 (+) 7054 ~ 8554 (1H5RI504)) EILBLE - §BRE
TEAM 1 2 3 4 5 6 8 9 10 11 12 13 R H E
Bt KazusaR—ZXR—L o5 7 1 0 0 0 0 0 3 6 1
B Z3—L2R 0 0 0 0 1 3 4 7 3
[ MvPGT®H) | L &EE EEI
| #2 | ®uEE 18 \ \ \ \ \ \ |
[ MVPE&EF) | =&KX 11E8 |
[ BARs | #isEk s [ -7 | ®E» 1S | [ | | | |
BT llEA 11 BIE 5 6-9
HERT &6 T 1-1
#X: Xa—1LX
TIE 28 1 2 3 4 5 6 7 8 10 11 12 13 14 T2 & E| o & & X
1 TBA— | =R —% Bk 2] 1 1] 1 1 404
2 Bk TR =ik =R Rk 3 2 1 .207
3 Lft 15—BE || R =ik =R 3 176
4 Ak & — o0 =0 kR (2 301 2 .200
5 KERK =R UEE=T —B 2 11 245
6 ‘IR &2 —= e 21 .333
7 R B —Jn R 201 1 .270
8 Bi5 % —3R =ik 2 1 .280
9 [GPEREPN plisgm | o3k 1 1 .209
10 TR A E iz gt 2 1 2 230
11 /II={=3 ®an FER (1) 2 1/ 1] 1 400
12 > S iz [ 11 1 304
ToTAL[25] 77 17 3 7 4] 2] 3| .253
S 1 KazusarR—RHK—ILT 57
fIIE | RFTE £A 1 2 3 4 5 6 7 8 10 11 12 13 14 BHE T R AR M & HEER
1 aiT#& —=n —n B =ik I | ()
2 BiTE mmR i #an 5 18 1 | 8 1 | 249
3 FoEdEy o3k Pl R BiE 5 (S)
4 BiTE —% =iF =am 2 13 5 |1/ 1 372
5 aiTE =ik R hz
6 EiTE =ik =R ER T T ]
7 EiTE =ik hz —& (1)
8 SEIE] —n =ik = T T T T
9 EiTE =ik Fz =®
0 EE = #on pz [ T T T T T ]
S— HEEEEN




